Esercizio 1. Simplify these powers:

1. (33)3 = 36" Sol: [NOJ

2. ((3335)2)3 Sol: [(33:5)6 = 306230]

3. 123 - 157 Sol: [2633 - 3757 = 2631057]
(22a°6)°. Sol: 2641063 = 293341]
5% + 5% + 5% Sol: [53(52 + 5+ 1))

3% 4+ 6% + 122 Sol: [32(32 + 323 + 2%)]
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15-12-18 Sol: [3-5-22.3.2-32 =23.3%. 5
Esercizio 2. Write down Pascal’s triangle seventh row.
Esercizio 3. Write down Pascal’s triangle tenth row.
Esercizio 4. Compute these powers:

1. (2a + 2b)* Sol: [16a* + 64a3b + 96ab? + 64ab® + 16b*]
x —y)? Sol: [ — 3z%y + 3zy? — 7]
22 — 3y)°® Sol: [32x5 — 2402ty + 72023y? — 108022y + 810zy* — 243y°]

x—1)* Sol: [2* — 423 4 622 — 42 + 1]

2/3x —1/2)% Sol: [8/27x% — 2/32% +1/2x — 1/8]

22 ++/2)% Sol: 823 + 1222V/2 + 12z + 2V/2]

2v/62 — 1/2v/5)% Sol: [4823v/6 — 36v/522 + 15/2/62 — 5/8/5]
r—y+2)3 Sol: [#3—322y+3xy? —y3+ 3222 —62y2+3y° 2+ 3122 —3y2> + 23]
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(x —1/3)3 Sol: [2® — 2?4+ 1/3z — 1/27)
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Esercizio 5. Simplify these square roots
1. /465 (x — 2)3. Sol: [20%(x — 2)\/b(z — 2)]
2. V4x2 — 12xb + 9b2. Sol: [2z — b]
3. Vad + 322+ 3z + 1. Sol: (x+1)Vz +1

4. /(@2 —=1)(x —1). Sol: (x —1)y/xr+1




